Analizis 1. 1 POLCZ 7. HET

1. Polcz 7. hét

1.1. feladat
- 5 / \ AN/ 5
(\/x_+x2 \/E) - (i’f*§+x3—x*§) LIS G o
" 2
1.2. feladat
<2$+x_1+ 31 ) :<2x+1—x_1+$_§>/:2+$_2—zﬁ_1§
x z7 ’
1.3. feladat

eod ' R R ' 2 1 322 — Az + 6
arc X = _ arc X = —
r—2 & r—2 & (=22 2241  (z—2)%- (22 +1)
1.4. feladat

/
((ex +3) sinx) = (e sin:z:)/ + (3sinz) = e”sinz + €” cosx + 3cosx

1.5. feladat
Inz , %~x2—2xlnx 1—2lnz
2 - i B 3
1.6. feladat
/ 1 216 1 2 6)1
<lg93(:172+6x~|—1)> :m-(2:2—|—6x+1)+1gx-(2x+6):x i x—i_ajl—ri_liOmjL JInz
1.7. feladat
/
1
2x 2—x _ 2x 2—x -3z
(e + 3 —{—103z> =2e“* —1In3-3 —3In10-10
1.8. feladat

/
1
<sin(2x) + sin® z + sin (g +2>) = 2cos (2x) + 2sinz cosx + 5 cos (g +2> =

1
= 2cos (2x) + sin (2x) + 5 cos (g + 2)
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1.9. feladat
3v -2\ 1 13 1
<x2arCtg\/E+arcsin < ) :2:carctg\/5+x2~1+—x~m+g. = =
1 — <3x72>
5
3 3 1
=2 t .
xarcgﬁ+2<1+x)+5 -
1 — (31;2)

1.10. feladat

~_
I

(cos2 (22 — 6) + sin® (vVr — 1) + tg(z — 7)?

3sin® (y/z — 1) cos (yz — 1) 2(x —7)

= —4sin (22 — 6) cos (2 — 6) + NG + cos? (z —7)2 =
B . 3sin® (y/z — 1) cos (y/z — 1) 2r — 14
= —2sin (4 — 12) + NG + o (z = 7)2
1.11. feladat
et L e % ! - (693 _ e—x)2 _ (ea: + 6—93)2 B —4 B _4621‘
eT — e o (e:v 6—:0)2 o (6:73 _ e—a:)Q o (62z _ 1)2

1.12. feladat

/
P 2\ 1 ) 1
o Uiy DT e @y

1.13. feladat

1

(lncosa:)/: < (—sinz) = —tgx
cos
1.14. feladat
V2 7\ %x_%QCOS% — 25 In2- 257 . 2 cos 2(— sin z)
9cos? +1g Z - Ocos? -

1 1 . 1 :
= 217’y ms 4 23 In2. 21 T cos psin g = gx_%Zsm% + éx% In2 - 2™ gin (2x)

3
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1.15. feladat
(tg2 (20) , @>/ 2t (20) g 2 — 1) — te? (20) 1 R

r=1 - (z —1)? +2‘/wl 2
2

1.16. feladat

1.17. feladat

(s (V7)) =20 (V5 ) con (Vo) (52 e = V) =
= sin (2Vz- e (2;5 e = e‘x>

1.18. feladat

| T4+5 /_ | ] 2 B 1 1 2 B
R R B e (R T imz p iz @O
z+7

z+7
_ 1
T In2-(z+5)(zx+7)

1.19. feladat

/
(ex2+5“1 -In 1:) — L (22 4 5) - Inx + 612+5“+11 A (ln A 1)
T T

1.20. feladat

(o) - e i) )

1.21. feladat

!/
| e 1 1 1 1
hl ¢ = . . . 262:17 —
14 e2e \/ e2x 2\/ e2x (]_ + 62:16)2 14 e2=

I+e2® Tte2
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1.22. feladat

1

' 5
<x2 + 32t + 5\/5) =122 4 2z + 37

M

1.23. feladat
o2z 1Y), »
<1—;+5—@> =T +x+x

1.24. feladat

1.25. feladat

1.26. feladat
3—e 8Y _( 1, 16 3\ _ 16 . 3  Ol’+30r+3
5se4+1 x) 5 5(x+1) x) 2505z 4 1)2 2 22(5x 4+ 1)2
1.27. feladat
/ r __ ,—x ! x _ ,—x\2 __ x —x\2 xr __ -
(thx~lnaz> :<e 6_ -111:5) :(6 e( il G ~1n;1:—|—6 ¢ .1:

er + e—:v)Q eT 4 e T g

_dlng -z 4er—e ™
(ex + ef:):)Q

1

thz) = ——
(0= 35
472 - arch x /_
e+ 3 N

(81; In (o4 Va? = 1) +da? - L <1+Ni—§—_1>>(e$+3)—4x2.1n(x+M)

1.28. feladat

(e* 4 3)?
(83: ln<x+\/3627> )(e +3) — 4w21n<x+m>
N (ew +3)2
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1.29. feladat

/
((Qx —1)* 4 * — cos (2x)> = 4(2x — 1) + 2€** + 25sin (22)

1.30. feladat

/

!
((31 49. 430) - 53@“) _ (37596 49. 50090) — 0375 - 3757 + 210500 - 500°

1.31. feladat

/ 3z
<tgx~ (€3$+7>) . Al +3tgx - e

cos? x

1.32. feladat

(3629” - sin (2:13))/ = 3(2@% -sin (27) + 2e* - cos (2$)> = 6> (sin (2z) + cos (22))

1.33. feladat
((9 - a:2> : <ex2 + 1)>/ = —2x- (ex2 + 1) + 22 (9—127)- ¢ =2z <ex2(x2 —8) + 1)

1.34. feladat

: 1 !
(arctg (z —3)+7) = (=341 a%—6x+10

1.35. feladat

. 4 B
(251” — 3‘30”) =In2-2°"%.cosx +1In3- 3" .sinx

1.36. feladat

/
4 _
(x 50+ 2\/5> = (:c% — 3xi + 233%>/ = Ex% — 2275 + lx’%

Iz

1.37. feladat

!
V5 — 3x) - arcsin $> = —3arcsinzx +
(( ) N
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1.38. feladat

1.39. feladat

x ’_1—ln:v—|—:£-% 2—Ilnz
1—Inz/)

(1 —Inz)? (1 —Inz)?

1.40. feladat

1.41. feladat

(B:E - arccos x)/ B (3 arccosx — \/13:67> (2% +1) — 627 - arccos x

241

1.42. feladat

1.43. feladat
(sin (2z) + sin® x)/ = 2cos (22) + 2sinx cos x = 2 cos (2z) + sin (2x)

1.44. feladat

<C083 T + cos (m?’))I = —3cos’z-sinz — 322 - sin (ZL‘S)

1.45. feladat
Lasd 1.19. feladat.

1.46. feladat

sinz  e*+1 sin? x C(er 4 1)2

/ 4 . 1
( N& e? ) %afﬁ -sinx — x5 cosx ert?

1.47. feladat

_ 1 1 ctg/x
1 - . . —
(nsin Vo) = G s cosVa 5 =5
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1.48. feladat

. / .
(xQ-ex-smx) = (Qx-ex—ka:Q . ex) csinx 4+ 22 - €* - cosx
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